@ Odnyieg Aermoupyiag / Operating instructions

ACTION

KaBiopa d1eubuvtikd pe pnxaviopd Synchro
Managerial chair with a Synchro mechanism

558-4XX-XXX / 11-2019

PUBpion Oyoug TAGTNG

la va puByicete To Uyog TG TAGTNG TPABAETE TV TTPOG Ta EMAVW Kal
agnoTe TV oTo onyeio Tou oag e§urnpetei. KAeiduvel o TévTe oneia.
lMo va v KateBaaeTe gTo XaunAdTepo onyeio, Tpaprigre Tnv Tépua
£MAvwW Kal TNEOTE TV XaAapa TPog Ta kTw.

Backrest height adjustment

To adjust the height of the backrest, pull it up and release it to the

position where it is being used. It locks in five positions. To lower it

down, pull all the way up and press loosely down. D
PGBpion mpooképalou (TipoaipeTikd)

Q6naTe 10 TIPOOKEPAAO TIPOG TA TIAVW 1) QVTIGTOIXA TTECTE TIPOG TA

KéTw yia v emBupnTi) 8¢on (pUBuion 6 Béoewv). Mpocappdote To E
TIPooKEPAAO OTOV QUYEVA, TIEPICTPEPOVTAG T TTIPOG T TIAVW 1

TPOG Ta KATW. B
Headrest Adjustment (optional)

Push the headrest upwards or downwards on the desired position
(stabilazed at 6 positions). Attach the headrest to the neck by tuming
it upwards or downwards.

PaBpion uyoug g édpag

la va puBioete To Uyog Tou kabioparog avalnmioTe Ta TTEPUyIa Tou poxAoU (A) kdmw kai de§iG amd mv £dpa Tou kabioparog.Eviw eioTe kaBiopévog méoTe Tpog Ta epTipdg T0 TITEPUYIO
yia va xapnAwoete To Oyog Tou kabioparog,. lMa va uyoeTe To kGBiopa, avacnkwBeite kal emavardBete Ty Kivnon.

Seat height adjustment

For adjustment of the seat height, find the flaps on the handle (A) undemeath the right side of the seat. While seated push the flap onwards to lower the seat height. To raise the seat,
get up and repeat the above procedure.

PuBpion kAiong Tg TAGTNG

Ymapyouv éwg mévte dlagopeTikég BEoeig avakhang £5pag - mAGNg. Ma va emAé€eTe Tnv emBupnT kAion avadnTraTe To aTpogeio (B) kdtw kai de§1d amé my édpa Tou kabioparog.
TupiaTe To TIpOg Ta ePrpdg pia Popd yia va EekAeidwael n mAGm. Pi§Te To Bdpog oag mpog Ta miow, Ppeite T B£0n Tou aag BoAevel kal {avayupioTe To oTpogeio (B) Tpog Ta epmmpdc,
G\AN pic @opd yia va KAEIDWoe ot Béon TTou emBUpEiTe. Exoviag {ekAEiBwTH TV €0pa - TTAGTN HITopeiTe va aAAAgeTe TV KAION WE TNV TTiETT TOU CWHATAS oag. H akAnpéTTa TG
avakhiong £€dpag - mAGmg pTropei va puBpiaTei avahoya pe To Bapog Tou xpriot péow Tou oTpogeiou (C) ou PpiokeTal kGTw amd v £dpa.

Tilt adjustment of the backrest

There are up to five different positions for a seat - back reclination. To choose the desired position, find the crank (B) beneath the seat, at the right side. Tum clockwise once to unlock

the backrest. Move your weight backwards; find a convenient position and then turn the crank (B) clockwise, once again, to lock in the desired position. Having unlocked the seat and

the back, you can change the position using the pressure of your body. The hardness of the tilt of the seat and back can be adjusted depending on the user’s weight through the crank (C)
which is located below the seat.

PU6pion Bpayiévwv

To Oyog Twv Bpayiévwy pTopei va pubpioTei pe To koppio (D) . Natwvrag 1o koppio (D) , KivijaTe TAVW - KATW 10 Bpayiova. EAeuBeptioTe To koppio 6rav Ppeite To emBuunTé Uoc.
01 Bpayioveg peTakivouvTan Péaa - £5w péow Tou oTpogeiou (E) Tou utrdipxel oTo kdtw pépog Tou Kabiouarog.O1 emeaveleg Twv Bpayiévwy Pmopolv va KivnBolv TIpog Ta uTTpog Kal
Tiiow méfovrag Ta Tipog Ty emBupnTr karelBuvan. Emiong ymopodv va TepioTpagolv degid kai apiaTEPd, JE QUTOpATO KOUUTIWHG OTNV EMIBUpNTH Béan.

Adjustment of the armrest

The height of the armrests can be adjusted using the (D) button. Pushing the (D) button and move the armrest up or down. When you find the desired height, release the button. The arms
are also moving inwards and outwards using the cork (E) that exists underneath them. The surface of the armrests can be moved forward and backwards by pressing towards the
desired direction. The armrest pads can be rotated right and left with automatic locking in the preferred position.

YmooTripign oo@uikwv oTroviiAwv
Zrnv miow TTAgupt TG TTAGTNG Tou kaBiopatog Bpioketan N evowparwuévn oTiPIEN TG 00QUIkiG Xwpag. Ma va eviGXUOETE T OTHPIEN TwV 00PUIKWV
oTrovBUAwv TV KIVEiTe Gvw Kal kaTw Pe Ta Suo oag XEpia PEXpI va @Taoel o1o emBupunté onpeio.

Support of the lumbar vertebra

The lumbar support is integrated on the backrest of the seat. To enhance lumbar support, move it up and down with both hands until it reaches the desired point.

TWTIW T D) e ¥ @ 2

EM S 801 : 2HY EMEHD AT - N SHENE SN ;BT Pociiiiaet’
o35 00 183 17T TRLTET oo BRARE iy U

s EMMAL

EPFOZTAZIO: BLME. ZEPPON, T.K.62121, ZEPPEZ / T. 23210 99220 / F. 23210 99270 it
PLANT: INDUSTRIAL AREA OF SERRES, 62121, SERRES, GREECE / T. +30 23210 99220 / F. +30 23210 99270

4 www.dromeas.gr / e-mail:dromeas@dromeas.gr / 801 11 96000 (aoTikr xpéwon) ZYNAPMOAOFHZH / ASSEMBLY D H D M E a S



To mpoidv karaokeudletan £ ohokAfjpou otnv EAMGOa / Made in Greece

J

Mpooképalo / Headrest
1 Tepaxio 6mm ALLEN KEY 13mm KEY
1 piece 1 TEUAYIO 1 TEUAYIO
1 piece 1 piece
MAdGTn / Back
1 TEPAYI0
1 piece
code-001 code-002 code-003
M8X20 M8 M6X16
4 Tepayia 4 Tepayia 2 Tepayia
4 pieces 4 pieces 2 pieces
‘Edpa / Seat
1 TEUAYIO Mevraveupo / Five-star base "Eypolo / Piston
1 piece 1 1epayio 1 TePdyIo
1 piece 1 piece

@ 2uvoeon AATne e €dpa /| Connecting seat and back

Aaya mAatng
Back blade

Ecoyxn pnxaviopol
Mechanism slot

Eik.1/Im. 1

code-001 code-002 code-001
X4 N X4
A
g (M8X20) 2 (M8)

Ek.1.1/Im. 1.1

Apxika yupifoupe Tnv édpa avdmoda. Emerra TomobeTodye Tnv Adua Tng TTAGTNG 0TV £00XT TOU PNXaviopou Kai BISWvoupe Trwg aTreikoviZeral
omv Eik. 1.1.

First we turn the seat upside-down. Then we insert the back blade in the mechanism slot and screw as seen in the Im. 1.1.

2

TotroBéTnon euBOAoU aTo TTEVTAVEUPO /
Placing the piston on the base

20vdeon €dpag Je éupolro /
Connecting the seat with the piston

KaBduaaoTe ue dUvapn yia va KOUUTTWOE! O NXAVIOHOG

Seat with force in order to place the mechanism.

@ TotoBétnon mpooképalou / Headrest placement

code-003
X2
(M6X16)

KdAupua /
Cover

-,

AgaipoUpe 10 kGAuppa ad v TAGT. Tomofetolpe To TPookEpaho kal Bidwvoupe pe 500 M6X16. Baloupe 10 KAAUpHA VIO VO KPUWOULE TIG BidEC.

We remove the cover from the back. We place the headrest and we screw it with two screws M6X16. We put the cover to hide the screws.



	ΚΑΘΙΣΜΑ ACTION Model (1)
	ΚΑΘΙΣΜΑ ACTION Model (1)

